2 5 7 9 ! 3 9 10 |
REV DESCRIPTION DATE ECN # APPR|
A INITIAL RELEASE 00-XXX-19 PXXXXX MM
A
¥ Efip €
B
B, )
[om) )
@ @ C
HE) q{?
B (32.5) -—
(30)—=  |= 80.0 —=—(9.0) — - (30.3) - D
) b ™,
E
l d ‘ . :
o 1 . .
464 [ | A r H H
] F
34.6
o O o O 278 [
i B U B o o
. - G
@
! ' '
N E: MOPEC LEGAL NOTE UNLESS OTHERWISE SPECIFIED: | DRAWN BY: PRT  LIBI5|0-B
THIS DOCUMENT CONTAINS #%)LLEDF'{“;\‘EEE?NS ”\(I3,|QCHES or IVI ‘ ' P E' ATE Jg 328;588? NUMBER
UNIT SHOWN IN CROPRETIRGNCCRMATONOE 000 =005 GROUP [mow sescweron. ELEVATING VENTED DISSECTION CART W/ LID ASSIST ’
MRt e e cNiopec MMORTECH ™ 9c02021 [wc A9 2. HBISI0-Bft B
|_ O W E R E D P O S T | O N SUBMITTED WITHOUT THE WRITTEN SREAK ALL CORNERS 0063 X 45° B ' ' APPROVED BY. NAVE '
PERMISSION OF A MOPEC. MANAGER AL ELLET RADI RO.0B3 10,125 DRAWN TO MMcCLAIN SCALE
MOPEC 2024 INSPECT OVAL DIMENSIONS 3RD ANGLE ‘B‘ @ PATE 9/30/202] | . 8 IFDIONNDOOTUESCT:AALSEK SHEET | OF 2
PROJECTION :
/N
| 2 | 7 8 | 9 | 0 I

*HB1510-B.dft*



3 4 5 ﬂ7 6 8 9 0 |
REV DESCRIPTION DATE ECN # APPR|
A INITIAL RELEASE 00-XXX-19 PXXXXX MM
HOODS SHOWN IN CLOSED POITION A
B
C
o )
SEn
E
F
ltem Quantity File Nome Title Material Revision
Number —
I” 4 PBOOSI par WASHER - SS, 3/8" SCREW SIZE Stainless steel
2 8 PBOI37 par BOLT - ZINC, M8 x 1.25 x 14mm, HEX HEAD McMASTER-CARR # A
91280A525 G
3 8 PBO2I|par WASHER - SS, M8 x 5/16", SERRATED BELLEVILLE McMASTER-CARR # A
90895A030
4 4 PBO427 par SCREW-CAP MI0O X 65 MM FULLY THREADED SS McMASTER-CARR # A
91287A372
5 |6 PBO603 par BOLT HEX M5 X 45MM SS FULL THREAD McMASTER-CARR # A
91287A33l I
) 2 PM0040.par PLUG SNAP IN 1/2 ID NICKEL PLATED STEEL : = DRAWN BY:
MOPEC LEGAL NOTE | e e ™ VIOPECL. oo |Gk 81508
2 I T el R
g 4 $2290-Epar CASTER ADAPTER, I-1/2" SQ. 16 GA. TUBE RM0620, TUBING, RND, EOPEC D MAY NOT BE COPED I 0L OF 0000 =000 _G ROUP e pescarnn ELEVATING VENTED DISSECTION CART W/ LID ASSIST H
_ " . 0.0000 +£0.00I0i DATE: v
MS, 1-3/8" 0D X10 GA OTHER THAN FOR WHICH IT HAS BEEN MOLES <05 CEFMIEEEE EAINHP.F,-E —IUERF Nﬂ; 9/30/202 sie A2 LE HBI5]0-B.dft REB
DOM SUBMITTED WITHOUT THE WRITTEN A ALL CORNERS 0063 X 45° APPROVED BY |
9 S6956-B.asmICLOSED HBI510 ELEVATING VENTED DISSECTION CART ' ' E— - M. '
ASSEMBLY MOPEC 2024 INSPECT OVAL DIMENSIONS 3D ANGLE 9/30/202 |-8 IF IN DOUBT ASK SHEET 2 OF 2
2 3 4 | 7 8 | 9 | 0 I

*HB1510-B.dft*



